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ANSWER KEYS FOR THE POST OF FOREMAN (EE) IN TURA POLYTECHNIC

| Question | Answer | Question | Answer ] Question | Answer l Question'['Air'i;\)ve_rwﬁuestion\ Answer
1 o T 21 s | a1 [a T & |8 81 |8 ‘
2 |8 2 |aA | 42 |A 62 |D Ty
3 D 23 |p_ | 43 |8 68 | C 83 A .
4 B 24 | A a4 | A 64 |cC . 8 | A
5 A 25 |o | 4 [a & l: 85 D
6 A 26 |c | 4 |A | 66 |c | 8 A
7 e 27 | A 47 | A 67 i€ 87 |c¢
8 |A 28 |8 a8 |p | e |a 88 | B
ol 29 | A 45 | c 69 |8 89 |cC
10 |8 30 A 50 | D 70 |8 % |b
11 [B 31 |A 51 |A 71 |bp 91 | D
el s 322 (A 52 [ A 72 |D 92 |c
13 |8 33 |8 53 |¢ 73 B 93 |8
14 |8 34 | D 54 |c | 74 |a | 94 |8
15 | D 35 |B 55 | B 75 | D | 95 |a
| 16 |D 3 B | 56 |c 76 | A 9% | |
17 |8 37 |a 57 |c 77 |c 97 |c |
18 |8 38 B 58 |D 78 | 98 |8
19 |8 | 39 [B 59 (D 79 |8 99 |8
20 | A | 20 |a 60 | D | 80 |c 100 | C
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ANSWER KEYS FOR THE POST OF FOREMAN (ME) IN TURA POLYTECHNIC

' Qu_est-ic;r; Answer | Question | Answer | Question | Answer | Question | Answer " Question | Answer
. ie 20 JFpo. JI 0 tle 61 |8 | 81 D
2 |c 2 |8 2 |8 62 |b | 8 |c |
| 3 ¢ 23 |8 3 |a 63 | D 83 | |
| 4 |8 24 | a | 4 b 64 | A | 84 s |
s |c | 25 Jc 45 B 65 | C 85 | c |
6 | D 26 |8 6 |c 66 | B 86 | A
7 |8 27 |8 a7 o | e |c 87 |c
8 lc | 28 |B 48 |a | e |D | 88 |aA
s |8 29 |8 49 A 69 |C 8 |c
10 b 30 |a | s ¢ 0 |8 | %0 |a
| 11 s 31 |[c 51 | A 71 |B R |
12 e 32 |b s2 |8 | 712 |c 92 |A |
13 |8 33 |b 53 | A 73 |A | 93 b |
14 |a 3 |c 54 | D 74 |D 94 | B
15 D 35 D 55 |D 75 A 95 |8
16 | A 36 |c 56 |c 76 | A 9% A
17 |8 37 D 57| 77_|c 97 |c
18 B 38 | B 58 |8 78 |D 98 |Db
19 [a 39 |c 59 | A 79 |8 99 | D
2 Jo 0 |c 60 |c 8 |c | 100 |8




ANSWER KEYS FOR THE POST OF LECTURER IN CIVIL ENGINEERING IN SHILLONG POLYTECHNIC

QuestionTAnswer Qtjéstion rAnswer Question | Answer | Question | Answer | Question | Answer

1 |8 | 21 Jo | 41 Jc | 61 |8 =B
Y | 1 22 | D 22 |c | 62 |8 82 | A
3 b 23 A | 4 [p 63 A 8 D
4 |a 24 (B | 4 |a 64 | ¢ 84 B

5 |8 2 |c | a Jc_ 65 |[B 8 |8

6 |8 | 26 o | a s 66 | D 8 D
7 |A | 47 |8 67 | A 87 | A
8 _ A 28 |b 48 | A 68 | B 88 | D
s |c 29 |8 | 49 |a 69 |8 89 | A
10 | B 30 |bD | 50 [a 70 |8 | 90 Jc
11 |8 31 [a 51 (A | 71 s 91 |8
12 |8 32 [ 52 |A 72 |c 92 |c
13 |8 = 53 |B 73 |A 93 | B
14 ¢ 34 |p 54 A 74 |a 94 | p
15 ¢ 35 |c 55 |c 5 |B 95 | A
16 | A 36 |8 | se |a | 7 [c_ | e |c
17 [c 37 |a 57 |8 77 |b 97 | D

| 18 |c 38 |c s8  [c 78 A 98 |c
| 19 Jc | 39 |8 59 A 79 |8 99 b
|20 | A | 40 |8 60 |c 80 | D 100 | B




/26

ANSWER KEYS FOR THE POST OF LECTURER COMPUTER SC & ENGINEERING SHILLONG POLYTECHNIC

| Question | Answer | Question | Answer | Question | Answer | Question | Answer | Question | Answer |
C s S A UESHED, hnsuer, QUOSEN Answen e 8 |
2 B | 22 |aA 42 Jc | e |b 82 |c
3 |8 23 |b a3 |p 63 |c 8 |a
a |8 | 22 |c a  |c 64 | D 84 |b
s o s s | m ¢ | e |8 | s |5
.5 e 26 |D 46 [c [ e |c 8 |C
7 LLIlC 27 |8 47 |c 67 |aA 87 ¢
8 |b 28 |p | 48 [bp 68 |8 | 8 |c
o 8 | 2 Jc | 4 Jo 69 | | 8 [a
10 [aA 30 |c 50 |b 70 |c 0 |p
11 B 31 |8 51 e | 71 s a1 |c
13 ke 2 le [ s5 B 72 |c 92 |b |
13 A 33 |c 53 |D 73 |a 93 |A
14 |p 34 |bp 54 |& 7 |p 94 |p
5 e 35 |b s |c 75 (B | 85 |B
16 |8 36 |D 56 |D 76 |8 9% |b
17 |a | 32 b 57 |B 77 [a 97 |D
18 [p | 38 |a 58 |D 78 |D 98 |A
15 |a 39 |c 59 |c | 79 |a | 9 |c
20 |a 40 |a 60 |A 80 |8 100 |8
r



ANSWER KEYS FOR THE POST OF LECTURER IN MATHEMATIC

S IN SHILLONG POLYTECHNIC

JF

Qu&on—rAnaar Question—’_Answer Question | Answer Ql@tion—(Answer O.uestion—[ Answer_i
1 | A 21 |8 a1 | A 61 | B s1 |8 |
| 2 Incorrect option 22 B 42 A Jj = 2 __B " _|_ 8i __A ‘
3 |D | 23 |8 43 |B 63 |8 83 |A
a4 ¢ 24 | A a4 |D 64 |c | 8 |B i
5 B 25 | A s |c | e |B | 8 |B ‘
| 6 |a | 2 |C AB" "liEe" o |in w00l ReiiCe el SREESTREIVA
7 B 27 B 47 D 67 B 87 B ‘
8 B 28 B 48 B 68 A 88 C ‘
9 A 29 C 49 |C 89 | C 89 B
10 |B | 3 jc B T (S T S T ‘
1 |c 31 |B 51 B 700 lic 91 |A ‘
12 |B | 3 B 52 |cC 72 A | 92 |8 |
i = 7 33 B 53 c | 73 c | 9 |8 .
14 D 34 |c 54 | D 74 |8 % |c l
15 B 35 B 55 C 75 B 95 D
16 B 36 B 56 | A 76 | A 9% | A
17 B N 37 Incorrect MCQ 57 A 77 C 97_ A ‘
18 |C | 38 A 8 |C | 7 |8 | 9 |D
19 |c 39 C 59 B 79 | 9 |c
20 |B | a0 |8 60 |A 80 |B | 100 |B

Note: For incorrect MCQ / incorrect option due to typing error, one mark will be grace to

all candidates



